Derivatives involving exponential, logarithmic, and inverse trigonometric

An equation for a tangent to the graph of y= arcsmE at the origin is
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If v=tanwu,u= v—l, and v =In x. what is the value of dy at x=e?
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Let f be the function given by f(x)= 26" . For what value of x is the slope of the line tangent to
the graph of f at (x. f(x)) equal to 37

(A) 0.168 (B) 0.276 (C) 0318 (D) 0.342 (E) 0.551



If f(x)=sin [e_x]. then f'(x)=

(A) —cos(e™)
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Let f be the function given by f(x) = 3e”" and let £ be the function given by g(x) = 6x° . At what
value of x do the graphs of f and g have parallel tangent lines?

(A) -0.701
(B) -0.567
(C) —0.391
(D) —0.302

(E) -0.258



